[bookmark: _GoBack]Appendix 1 Data Collection Instrument
Household level information on Risk/Shocks (negative and positive; actual and perceived)

A. negative shocks

HH # ____________  Name: _______________________ PID # ________ Date: __________  Enumerator’s name: _________________

In terms of agricultural production what was this year like?
	Worse than normal (production less by)
	Normal production
	Better than normal (production higher by)

	50-100% less
	10-50% less
	
	10-50% high
	50-100% high

	
	
	
	
	





In the last 5 years has your household suffered a substantial (unexpected) shortage/loss of agricultural product?
	Year
	Crop type
	Quantification of value loss (in Rs)
	Causes of shortage/loss
(Code, 1= drought, 2a= too much rain, 2b= land slides, 3= pest and diseases outbreak, 4 = frost and hailstorm, 5= any other ( specify), 6= storm, 7= irregular snow

	How did you cope? *
1= spent savings, 2= reduced consumption, 3= sold livestock, 4= sold land, 5= sold other asset, 6= did extra casual labour work, 7= harvest, use or sold more forest products, 8= get loan from money lender, credit association, bank etc, 9= assistance from others (friends, relatives NGOs), 10= HH members work elsewhere sending remittance, 11=reduced unnecessary expenditure, 19= any other ( specify)

	
	
	loss value
	normal value
	Rank 1
	Rank 2

	Rank 1
	Rank 2
	Rank 3

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	


* Specify how much each response contributed (a=0-20%, b=20-80%, c=80-100


B. Negative shocks (hypothetical situation)
Assuming in the coming year if household experience a substantial (unexpected) loss/decrease in total agricultural production?
	Type of loss
	Quantification of value loss (%, unit)
	How will you cope? *
1= spend savings, 2= reduce consumption, 3= sell livestock, 4= sell land, 5= sell other asset, 6= do extra casual labour work, 7= harvest, use or sell more forest products, 8= get loan from money lender, credit association, bank etc, 9= assistance from others (friends, relatives NGOs), 10= HH members will go to work elsewhere for sending remittance, 11=reduced unnecessary expenditure, 19= any other ( specify) 

	
	
	Rank 1
	Rank 2
	Rank 3

	Moderate loss
	< 50%
	
	
	

	Heavy loss
	> 50%
	
	
	


* Specify how much each response would be likely to contribute (a=0-20%, b=20-80%, c=80-100%)

C. Positive shock 
In the last 5 years has your household collected unexpected (large) income from agricultural product than the normal year?
	Year
	Crop type
	Quantification of value increase  (in Rs)
	How did you respond (cope)? *
1=saving, 2= increased HH consumption, 3= bought livestock, 4= bought land, 5= bought other assets, 6= stopped doing extra casual labour work, 7= reduced/stopped collecting, use or sell forest products, 8= payback  loan from money lender, credit association, bank etc, 9= sent away gift to others (friends and relatives), 10= HH members stop sending remittance/ returns home, 11=increase unnecessary expenditure, 19= any other ( specify)

	
	
	loss value
	normal value
	Rank 1
	Rank 2
	Rank 3

	
	
	
	
	
	
	

	
	
	
	
	
	
	

	
	
	
	
	
	
	

	
	
	
	
	
	
	

	
	
	
	
	
	
	

	
	
	
	
	
	
	

	
	
	
	
	
	
	

	
	
	
	
	
	
	

	
	
	
	
	
	
	

	
	
	
	
	
	
	


* Specify how much each response contributed (a=0-20%, b=20-80%, c=80-100%)

D. Positive shocks (hypothetical situation)
Assuming in the coming year if household experience a substantial (unexpected) increase in total agricultural production?
	Type of gain
	Quantification of value Increase  (%, unit)
	How will you respond (cope)? *
1=saving, 2= increase HH consumption, 3= buy livestock, 4= buy land, 5= buy other assets, 6= stop doing extra casual labour work, 7= reduce/stop collecting, use or sell forest products, 8= payback  loan from money lender, credit association, bank etc, 9= send away gift to others (friends and relatives), 10= HH members will stop sending remittance/ returns home, 11=increase unnecessary expenditure, 19= any other ( specify)

	
	
	Rank 1
	Rank 2
	Rank 3

	Moderate increase
	< 50%
	
	
	

	Large increase
	> 50%
	
	
	


* Specify how much each response would be likely to contribute (a=0-20%, b=20-80%, c=80-100%)
